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7. Find the relative maxima and relative minima of the function f(x)=x+1/x (159%)

8. A company requires that its beef containers have a capacity of 54 cubic inches, have the shape
of right circular cylinders, and be made of aluminum. Determine the radius and height of the

container that requires the least amount of metal. (20%)
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h We want to minimize the amount of material used to

construct the container.
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9. Evaluate the improper integral
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and give a geometric interpretation of the results. (159 )



